Transfers Report

This report contains the transfers results.

Contest Name	Ward 9 - Jedburgh & District
Valid Votes	3,507
Positions to be Filled	3
Quota	877

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John BATHGATE	Independent	529
Pam BROWN	Scottish National Party (SNP)	809
Scott HAMILTON	Scottish Conservative and Unionist	1,089
Jesse RAE	Independent	102
Yvonne RIDLEY	Alba Party	53
Sandy SCOTT	Scottish Conservative and Unionist	675
Charles STRANG	Scottish Green Party	250
	Total	3,507

Candidate Scott HAMILTON Elected with 1,089 votes, being in excess of the quota of 877

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Scott HAMILTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BATHGATE	149	0.19467	29.00583
Transfer to Pam BROWN	27	0.19467	5.25609
Transfer to Jesse RAE	23	0.19467	4.47741
Transfer to Yvonne RIDLEY	13	0.19467	2.53071
Transfer to Sandy SCOTT	763	0.19467	148.53321
Transfer to Charles STRANG	23	0.19467	4.47741
No further preference	91	0.19467	17.71497
Not transferred due to rounding			0.00437
	Total		212.00000

Transfers Report

This report contains the transfers results.

55.53071

Stage 3 - Exclusion of Yvonne RIDLEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BATHGATE	6	1.00000	6.00000
Transfer to Pam BROWN	15	1.00000	15.00000
Transfer to Jesse RAE	4	1.00000	4.00000
Transfer to Sandy SCOTT	3	1.00000	3.00000
Transfer to Charles STRANG	7	1.00000	7.00000
Transfer to John BATHGATE	4	0.19467	0.77868
Transfer to Pam BROWN	1	0.19467	0.19467
Transfer to Jesse RAE	1	0.19467	0.19467
Transfer to Sandy SCOTT	7	0.19467	1.36269
No further preference	18	1.00000	18.00000
Not transferred due to rounding			0.00000
	Total		55.53071

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Jesse RAE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BATHGATE	49	1.00000	49.00000
Transfer to Pam BROWN	11	1.00000	11.00000
Transfer to Sandy SCOTT	10	1.00000	10.00000
Transfer to Charles STRANG	12	1.00000	12.00000
Transfer to John BATHGATE	6	0.19467	1.16802
Transfer to Sandy SCOTT	13	0.19467	2.53071
Transfer to Charles STRANG	2	0.19467	0.38934
No further preference	24	1.00000	24.00000
No further preference	3	0.19467	0.58401
Not transferred due to rounding			0.00000
	Total		110.67208

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Charles STRANG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BATHGATE	90	1.00000	90.00000
Transfer to Pam BROWN	90	1.00000	90.00000
Transfer to Sandy SCOTT	17	1.00000	17.00000
Transfer to John BATHGATE	7	0.19467	1.36269
Transfer to Sandy SCOTT	5	0.19467	0.97335
No further preference	72	1.00000	72.00000
No further preference	13	0.19467	2.53071
Not transferred due to rounding			0.00000
	Total		273.86675

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Pam BROWN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BATHGATE	358	0.05744	20.56352
Transfer to Sandy SCOTT	41	0.05744	2.35504
Transfer to John BATHGATE	8	0.01118	0.08944
Transfer to Sandy SCOTT	5	0.01118	0.05590
No further preference	526	0.05744	30.21344
No further preference	15	0.01118	0.16770
Not transferred due to rounding			0.00572
	Total		53.45076

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of John BATHGATE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy SCOTT	196	1.00000	196.00000
Transfer to Sandy SCOTT	65	0.19467	12.65355
Transfer to Sandy SCOTT	130	0.05744	7.46720
Transfer to Sandy SCOTT	3	0.01118	0.03354
No further preference	478	1.00000	478.00000
No further preference	101	0.19467	19.66167
No further preference	228	0.05744	13.09632
No further preference	5	0.01118	0.05590
Not transferred due to rounding			0.00000
	Total		726.96818